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DX A D FhHh EFE 49.1ha
Q7 U r—MARZFICEEL-RNOEMMAEEXIIBEEOMEFEBEO S 26.0ha
QURANIZHFTH0F LI L DEEXEDHERBOAST 19.3ha
i SLEBEBERTEODEXFOHEDBEDES 9.1ha
i YBEBEICOVTTFHADEEEDOHIEEEDSE 0.3ha
@HERNICENTSRBPLBEEARNSIZZTEIEMOHLHEEBEDSE 1.1ha
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REFE | REEH | RERD | BEEE |5 ks
A |A Z1)—2 0.3 ha [#1)—2 0.3 ha
ok B Z1)—2 0.6 ha [#1)—2 0.6 ha
ZE |C A1)—2 0.3 ha [#1)—2 0.4 ha
EFAD AU—7. g 2.6 ha |[#)—7. & 2.6 ha
ZE |E FU—7. i 0.3 ha |[#V—7. #i# 0.3 ha
ZE|F A1)—2 0.7 ha [#1)—2 1.2 ha
REE|IG Z1)—2 0.1 ha |A)—2 0.1 ha
2wk [H Oha L o *|  01ha
Rk |1 AU—2 0.2 ha |[A1)—2 0.2 ha
SN 0 ha [#1)—72 0.1 ha
T = =4 455 03 ha |7 7777 05 ha
M A1)—2 0.7 ha [#1)—2 0.8 ha
M A1)—2 0.9 ha |A)—2 0.9 ha
it 13N 7 ha 81 ha




